|
|
|
: TENON.
|
[

ALL MOUNTING HARDWARE IS SUPPLIED.
LANTERN IS PREWIRED AND TESTED.
ALL ELECTRICAL COMPONENTS ARE U.L. LISTED.

— 13" DIAMETER

3 DAY CLEAR RIPPLE TEXTURE
SE— POLYCARBONATE GLOBE, U.V.
STABILIZED.

PORCELAIN MEDIUM BASE SOCKET.
(LAMP NOT SUPPLIED) 100
WATTS MAXIMUM.

(4) 8—32 S.ST'L. SCREWS
ATTACH SIDE LEGS TO TOP
OF FLUTED HOLDER.

CAST ALUMINUM FINIAL.

SPUN ALUMINUM ROOF.

4 PIECE DIE CAST ALUMINUM
TOP RING BOLTED TO 4 DIE
CAST ALUMINUM LEGS.

(3) 1/4-20 S.ST'L. SET SCREWS
AND HEX NUTS LOCK GLOBE TO
FLUTED HOLDER.
LOOSEN 3 SET SCREWS AND NUTS.

I CAST ALUMINUM FLUTED HOLDER
WITH 2 WEEP HOLES.

CAST ALUMINUM POST FITTER
SLIPS OVER 3” 0.D. POST OR

TO RELAMP,

(POST MUST BE
ORDERED SEPARATELY).
Y (3) 1/4-20 S.ST'L. SET SCREWS
) ~~ 4 SECURE LANTERN TO POST OR
3" DIA. TENON.

E.PA: 1.30 (EFFECTIVE PROJECTED AREA) Droing for Buston oy~ vcole oppovimate

HEIGHT 27 3/4°

WIDTH 13°

PROJECTION

TOP TO OUTLET]

TITLE:

: |DWG. NO.



AutoCAD SHX Text
1=4

AutoCAD SHX Text
12/15/04

AutoCAD SHX Text
B17530

AutoCAD SHX Text
17500 SERIES

AutoCAD SHX Text
POST TOP 

AutoCAD SHX Text
JEK

AutoCAD SHX Text
LANTERN

AutoCAD SHX Text
27 3/4"

AutoCAD SHX Text
13"

AutoCAD SHX Text
HEIGHT

AutoCAD SHX Text
WIDTH

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
TOP TO OUTLET

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
DWG. NO.

AutoCAD SHX Text
TITLE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DWG BY:

AutoCAD SHX Text
Drawing for illustration only - scale approximate

AutoCAD SHX Text
PH: (717) 632-6464 - FAX: (717) 632-5039

AutoCAD SHX Text
350 KINDIG LANE HANOVER PA 17331

AutoCAD SHX Text
R

AutoCAD SHX Text
ALL MOUNTING HARDWARE IS SUPPLIED. LANTERN IS PREWIRED AND TESTED. ALL ELECTRICAL COMPONENTS ARE U.L. LISTED. E.P.A.: 1.30 (EFFECTIVE PROJECTED AREA)

AutoCAD SHX Text
CAST ALUMINUM FINIAL.

AutoCAD SHX Text
SPUN ALUMINUM ROOF.

AutoCAD SHX Text
(4) 8-32 S.ST'L. SCREWS ATTACH SIDE LEGS TO TOP OF FLUTED HOLDER.

AutoCAD SHX Text
4 PIECE DIE CAST ALUMINUM TOP RING BOLTED TO 4 DIE CAST ALUMINUM LEGS.

AutoCAD SHX Text
CLEAR RIPPLE TEXTURE POLYCARBONATE GLOBE, U.V. STABILIZED.

AutoCAD SHX Text
PORCELAIN MEDIUM BASE SOCKET. (LAMP NOT SUPPLIED) 100 WATTS MAXIMUM.

AutoCAD SHX Text
(3) 1/4-20 S.ST'L. SET SCREWS AND HEX NUTS LOCK GLOBE TO FLUTED HOLDER.  TO RELAMP,  LOOSEN 3 SET SCREWS AND NUTS.

AutoCAD SHX Text
CAST ALUMINUM FLUTED HOLDER WITH 2 WEEP HOLES.

AutoCAD SHX Text
CAST ALUMINUM POST FITTER SLIPS OVER 3" O.D. POST OR TENON.  (POST MUST BE ORDERED SEPARATELY).

AutoCAD SHX Text
(3) 1/4-20 S.ST'L. SET SCREWS SECURE LANTERN TO POST OR TENON.

AutoCAD SHX Text
"GROSSE POINT"


	Sheets and Views
	Model


